300

165.08

- 250 N%
(®)
!
/JP

mj =

—
—

211.87

BOM Table

NO Part Number Description QTY.
1 Ass--20001437 CP6 Tilting Socket 1
2 Ass--20001884 GC25 Tilt Assembly 1
3 Par--20003485 GC25 Channel Arm 2
4 HN-MET-14-HT-YZN Hex Nut M14 ( High Tensile Bright Zinc Plated Yellow Passivated ) 8
5 SL-MET-14-HT-CZN Split Lock Washer M14 ( High Tensile Bright Zinc Plated Clear Passivated ) 4
6 MS14X300MS Metric Studding M14 X 300 ( Mild Steel ) 2
7 HMS-MET-10X30-HT-CZN Hex Machine Screw M10 X 30 ( High Tensile Bright Zinc Plated Clear Passivated ) 1
8 NN-MET-10-HT-CZN Nyloc (Nylon Insert) Nuts M10 ( High Tensile Bright Zinc Plated Clear Passivated ) 1
9 ET-MET-10-HT-CZN External Tooth Lock Washer M10 ( High Tensile Bright Zinc Plated Clear Passivated ) 2

Description ~ GC25 Adjustable Girder Clamp 9Cm To 25Cm

Saved Date: 21 August 2023

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS

SURFACE FINISH: Powder Coated
Created By Ricky Clark

Unicol Engineering
Green Road
Oxford OX3 8EU

3

Created Date:

Bend Tool:

Material:

Gauge:

21 August 2023

WEIGHT: 2.90

DRW - REV See Below - Special Notes
REV -
A-010

" Ass-20001885 REV - A-010

Kg SCALE:1:5 DO NOT SCALE DRAWING SHEET 1 OF 1



	Sheet1
	Drawing View1
	Drawing View2
	Alternate Position1
	Drawing View3
	Drawing View4
	Drawing View5
	Detail View C (1 : 3)
	Detail View D (1 : 3)


